
O+
10(2).2 (mod 31)

blocks defect matrix

G : 1 1 13× 10
2 0 1551 = χ2,0, ϕ2,0

3 0 1552 = χ2,1, ϕ2,1

4 0 1861 = χ3,0, ϕ3,0

5 0 1862 = χ3,1, ϕ3,1

6 0 8681 = χ5,0, ϕ5,0

7 0 8682 = χ5,1, ϕ5,1

8 0 21081 = χ6,0, ϕ6,0

9 0 21082 = χ6,1, ϕ6,1

10 0 52701 = χ7,0, ϕ7,0

11 0 52702 = χ7,1, ϕ7,1

12 0 63241 = χ8,0, ϕ8,0

13 0 63242 = χ8,1, ϕ8,1

14 0 79051 = χ9,0, ϕ9,0

15 0 79052 = χ9,1, ϕ9,1

16 0 93001 = χ10,0, ϕ10,0

17 0 93002 = χ10,1, ϕ10,1

18 0 110671 = χ11,0, ϕ11,0

19 0 110672 = χ11,1, ϕ11,1

20 0 130201 = χ12,0, ϕ12,0

21 0 130202 = χ12,1, ϕ12,1

22 0 138881 = χ13,0, ϕ13,0

23 0 138882 = χ13,1, ϕ13,1

24 0 147561 = χ14,0, ϕ14,0

25 0 147562 = χ14,1, ϕ14,1

26 0 158101 = χ15,0, ϕ15,0

27 0 158102 = χ15,1, ϕ15,1

28 0 184451 = χ16,0, ϕ16,0

29 0 184452 = χ16,1, ϕ16,1

30 0 184453 = χ17,0, ϕ17,0

31 0 184454 = χ17,1, ϕ17,1

32 0 316201 = χ19,0, ϕ19,0

33 0 316202 = χ19,1, ϕ19,1

34 0 316203 = χ20,0, ϕ20,0

35 0 316204 = χ20,1, ϕ20,1

36 0 368901 = χ21,0, ϕ21,0

37 0 368902 = χ21,1, ϕ21,1

38 0 421601 = χ22,0, ϕ22,0

39 0 421602 = χ22,1, ϕ22,1

40 0 505921 = χ23,0, ϕ23,0

blocks defect matrix

41 0 505922 = χ23,1, ϕ23,1

42 0 1106701 = χ24+, ϕ24+

43 0 664021 = χ26,0, ϕ26,0

44 0 664022 = χ26,1, ϕ26,1

45 0 737801 = χ27,0, ϕ27,0

46 0 737802 = χ27,1, ϕ27,1

47 0 737803 = χ28,0, ϕ28,0

48 0 737804 = χ28,1, ϕ28,1

49 0 737805 = χ29,0, ϕ29,0

50 0 737806 = χ29,1, ϕ29,1

51 0 1011841 = χ30,0, ϕ30,0

52 0 1011842 = χ30,1, ϕ30,1

53 0 1106702 = χ31,0, ϕ31,0

54 0 1106703 = χ31,1, ϕ31,1

55 0 1106704 = χ32,0, ϕ32,0

56 0 1106705 = χ32,1, ϕ32,1

57 0 2213401 = χ33+, ϕ33+

58 0 1475601 = χ35,0, ϕ35,0

59 0 1475602 = χ35,1, ϕ35,1

60 0 1475603 = χ36,0, ϕ36,0

61 0 1475604 = χ36,1, ϕ36,1

62 0 1488001 = χ37,0, ϕ37,0

63 0 1488002 = χ37,1, ϕ37,1

64 0 1581001 = χ38,0, ϕ38,0

65 0 1581002 = χ38,1, ϕ38,1

66 0 1660051 = χ39,0, ϕ39,0

67 0 1660052 = χ39,1, ϕ39,1

68 0 1660053 = χ40,0, ϕ40,0

69 0 1660054 = χ40,1, ϕ40,1

70 0 1660055 = χ41,0, ϕ41,0

71 0 1660056 = χ41,1, ϕ41,1

72 0 1686401 = χ42,0, ϕ42,0

73 0 1686402 = χ42,1, ϕ42,1

74 0 2083201 = χ43,0, ϕ43,0

75 0 2083202 = χ43,1, ϕ43,1

76 0 2213402 = χ44,0, ϕ44,0

77 0 2213403 = χ44,1, ϕ44,1

78 0 2213404 = χ45,0, ϕ45,0

79 0 2213405 = χ45,1, ϕ45,1

80 0 2360961 = χ46,0, ϕ46,0



blocks defect matrix

81 0 2360962 = χ46,1, ϕ46,1

82 0 2656081 = χ47,0, ϕ47,0

83 0 2656082 = χ47,1, ϕ47,1

84 0 2988091 = χ48,0, ϕ48,0

85 0 2988092 = χ48,1, ϕ48,1

86 0 3162001 = χ49,0, ϕ49,0

87 0 3162002 = χ49,1, ϕ49,1

88 0 3320101 = χ50,0, ϕ51,0

89 0 3320102 = χ50,1, ϕ51,1

90 0 6640201 = χ51+, ϕ52+

91 0 3372801 = χ53,0, ϕ54,0

92 0 3372802 = χ53,1, ϕ54,1

93 0 3557251 = χ55,0, ϕ55,0

94 0 3557252 = χ55,1, ϕ55,1

95 0 3557253 = χ56,0, ϕ56,0

96 0 3557254 = χ56,1, ϕ56,1

97 0 7114501 = χ57+, ϕ57+

98 0 3689001 = χ59,0, ϕ59,0

99 0 3689002 = χ59,1, ϕ59,1

100 0 4394251 = χ60,0, ϕ60,0

101 0 4394252 = χ60,1, ϕ60,1

102 0 4394253 = χ61,0, ϕ61,0

103 0 4394254 = χ61,1, ϕ61,1

104 0 8788501 = χ62+, ϕ62+

105 0 8788502 = χ64+, ϕ64+

106 0 4426801 = χ66,0, ϕ66,0

107 0 4426802 = χ66,1, ϕ66,1

108 0 4426803 = χ67,0, ϕ67,0

109 0 4426804 = χ67,1, ϕ67,1

110 0 8853601 = χ68+, ϕ68+

111 0 9960301 = χ70+, ϕ70+

112 0 5059201 = χ72,0, ϕ72,0

113 0 5059202 = χ72,1, ϕ72,1

114 0 5396481 = χ73,0, ϕ73,0

115 0 5396482 = χ73,1, ϕ73,1

116 0 5902401 = χ74,0, ϕ74,0

117 0 5902402 = χ74,1, ϕ74,1

118 0 6348801 = χ75,0, ϕ75,0

119 0 6348802 = χ75,1, ϕ75,1

120 0 6640202 = χ76,0, ϕ76,0



blocks defect matrix

121 0 6640203 = χ76,1, ϕ76,1

122 0 6640204 = χ77,0, ϕ77,0

123 0 6640205 = χ77,1, ϕ77,1

124 0 7082881 = χ78,0, ϕ78,0

125 0 7082882 = χ78,1, ϕ78,1

126 0 14229001 = χ79+, ϕ79+

127 0 14229002 = χ81+, ϕ81+

128 0 7618561 = χ89,0, ϕ84,0

129 0 7618562 = χ89,1, ϕ84,1

130 0 8300251 = χ90,0, ϕ85,0

131 0 8300252 = χ90,1, ϕ85,1

132 0 8853602 = χ91,0, ϕ86,0

133 0 8853603 = χ91,1, ϕ86,1

134 0 10118401 = χ92,0, ϕ87,0

135 0 10118402 = χ92,1, ϕ87,1

136 0 11804801 = χ94,0, ϕ88,0

137 0 11804802 = χ94,1, ϕ88,1

138 0 11952361 = χ95,0, ϕ89,0

139 0 11952362 = χ95,1, ϕ89,1

140 0 14229003 = χ96,0, ϕ90,0

141 0 14229004 = χ96,1, ϕ90,1

142 0 14940451 = χ97,0, ϕ91,0

143 0 14940452 = χ97,1, ϕ91,1

Block 1: ϕ1,0 ϕ1,1 ϕ4,0 ϕ4,1 ϕ18,0 ϕ18,1 ϕ50,0 ϕ50,1 ϕ83,0 ϕ83,1

11 = χ1,0 1 . . . . . . . . .
12 = χ1,1 . 1 . . . . . . . .

3401 = χ4,0 1 . 1 . . . . . . .
3402 = χ4,1 . 1 . 1 . . . . . .

228481 = χ18,0 . . 1 . 1 . . . . .
228482 = χ18,1 . . . 1 . 1 . . . .
3481601 = χ54,0 . . . . 1 . 1 . . .
3481602 = χ54,1 . . . . . 1 . 1 . .
14458501 = χ83+ . . . . . . . . 1 1
14458502 = χ85+ . . . . . . . . 1 1
14458503 = χ87+ . . . . . . . . 1 1
10485761 = χ93,0 . . . . . . 1 . 1 .
10485762 = χ93,1 . . . . . . . 1 . 1



ϕ1,0 = 11
ϕ1,1 = 12
ϕ4,0 = 3391
ϕ4,1 = 3392
ϕ18,0 = 225091

ϕ18,1 = 225092
ϕ50,0 = 3256511
ϕ50,1 = 3256512
ϕ83,0 = 7229251
ϕ83,1 = 7229252


